X Qo
g @@ @ bon phan s6, s& thap phan, tht ty cac phép toan
** 0060

Tén: Ngay thang: Diém:
1 2 1 1 1

—+8X =+4+5%x == 2,5+ =-x2+ ==

4 3 3 ’ 5 2

2 2 3 1 3
——Z45xZ = - ——4+4xZ =

3 5 5 5 2 4

1 3 2
—+2,4%x2—- == 3,7-3,1-5x —=

3 ’ 5 ’ ’ 5

3 1 3 1

-+ -x4-—-= —+15x4,4+5+3%x5,9=
4 2 2 ’ ’

1 3
4,2+9% 5 +3-4x - = 3,6+3,2x4+ > =

N =

www.snowmath.com


https://www.snowmath.com

§ § &

bon phan s6, s& thap phan, tht ty cac phép toan

Tén:

1 2 1 13 1
-+ - +4+ - = — =3-
g P83 AT T T3y
2 2 3 49 4
_—_—|—5X_:__:3__
3 5 5 15 15
1
3 5 15 15
3 1 3 1
_+_><4—_=(—_.)
4 2 12
1 151
42+49x =+3—4x-=——=5
’ 6 3

Ngay thang: Diém:

2

7 2
3,7-3,1-5x 2= (—2) = (-2
> ’ XS (5) ( 5)

1 157 2
—+15%x4,4+5+3x%x59=— =31
2 ’ ’ 5 5

www.snowmath.com



https://www.snowmath.com

